

Half Gauss Sums

Bruce C. Berndt^{1*} and Ronald J. Evans²

¹ Department of Mathematics, University of Illinois, Urbana, IL 61801, USA

² Department of Mathematics, University of California, San Diego, La Jolla, CA 92093, USA

1. Introduction

Suppose that χ is a real, primitive character modulo k , where $k > 1$ is odd. Since the quadratic Gauss sum $G(\chi) = \sum_{n=1}^{k-1} \chi(n)e^{2\pi in/k}$ has the values [15, p. 256]

$$G(\chi) = \begin{cases} \sqrt{k}, & \text{if } \chi \text{ is even,} \\ i\sqrt{k}, & \text{if } \chi \text{ is odd,} \end{cases} \quad (1.1)$$

it follows that

$$\sum_{n=1}^{k-1} \chi(n) \cos(2\pi n/k) = 2 \sum_{n=1}^{(k-1)/2} \chi(n) \cos(2\pi n/k) = \sqrt{k}, \quad \text{if } \chi \text{ is even,}$$

and

$$\sum_{n=1}^{k-1} \chi(n) \sin(2\pi n/k) = 2 \sum_{n=1}^{(k-1)/2} \chi(n) \sin(2\pi n/k) = \sqrt{k}, \quad \text{if } \chi \text{ is odd.}$$

Lehmer [12] has made the following interesting conjectures for the signs of “half Gauss sums”:

$$\chi(2) \sum_{n=1}^{(k-1)/2} \chi(n) \cos(2\pi n/k) > 0, \quad \text{if } \chi \text{ is odd,} \quad (1.2)$$

and

$$\chi(2) \sum_{n=1}^{(k-1)/2} \chi(n) \sin(2\pi n/k) < 0, \quad \text{if } \chi \text{ is even.} \quad (1.3)$$

Lehmer also has formulated some conjectures on the signs of half Gauss sums like those above but with $2\pi nr/k$ in place of $2\pi n/k$, for certain integers r . For example,

* Research partially supported by National Science Foundation Grant No. MCS-7903359

for $p \equiv 1 \pmod{4}$, she has conjectured that

$$\sum_{n=1}^{(p-1)/2} \left(\frac{n}{p}\right) \sin(4\pi n/p) > 0,$$

where $\left(\frac{n}{p}\right)$ denotes the Legendre symbol.

The primary purpose of this paper is to prove some general theorems from which the conjectures of Lehmer follow as corollaries. In Sect. 2, we establish some representations for trigonometric character sums. These formulas are employed in Sect. 3 to determine the signs of half Gauss sums. We conclude this paper by showing how some of the theorems of Sect. 2 can be reformulated to yield some classical identities for trigonometric character sums.

2. Representation Theorems

Throughout the sequel, χ is a primitive character $(\text{mod } k)$ with $k > 1$, and α is a real number. Define

$$G(\alpha, \chi) = \sum_{n=1}^{k-1} \chi(n) e^{2\pi i \alpha n/k}.$$

Thus, if α is an integer relatively prime to k , then $G(\alpha, \chi)$ is a Gauss sum $(\text{mod } k)$. Note that $G(1, \chi) = G(\chi)$.

Theorem 1. *If α is not an integer, then*

$$G(\alpha, \chi) = \frac{1 - e^{2\pi i \alpha}}{2\pi i} G(\chi) \sum_{j=1}^{\infty} \bar{\chi}(j) \left\{ \frac{1}{j - \alpha} - \frac{\chi(-1)}{j + \alpha} \right\}. \tag{2.1}$$

Proof. Since χ is primitive, $\chi(n) = G(\chi) \overline{G(n, \chi)}/k$ when n is an integer [1, p. 171]. Thus,

$$\begin{aligned} G(\alpha, \chi) &= \frac{G(\chi)}{k} \sum_{n=0}^{k-1} \overline{G(n, \chi)} e^{2\pi i \alpha n/k} \\ &= \frac{G(\chi)}{k} \sum_{n=0}^{k-1} \sum_{m=1}^{k-1} \bar{\chi}(m) e^{2\pi i (\alpha - m)n/k} \\ &= \frac{G(\chi)}{k} \sum_{m=1}^{k-1} \bar{\chi}(m) \left\{ \frac{1 - e^{2\pi i \alpha}}{1 - e^{2\pi i (\alpha - m)/k}} \right\} \\ &= \frac{(1 - e^{2\pi i \alpha}) G(\chi)}{2k} \sum_{m=1}^{k-1} \bar{\chi}(m) \{1 - i \cot(\pi(m - \alpha)/k)\} \\ &= \frac{(1 - e^{2\pi i \alpha}) G(\chi)}{2ik} \sum_{m=1}^{k-1} \bar{\chi}(m) \cot(\pi(m - \alpha)/k). \end{aligned} \tag{2.2}$$

Since

$$\cot(\pi x) = \lim_{N \rightarrow \infty} \frac{1}{\pi} \sum_{n=-N}^N \frac{1}{n + x},$$

when x is not an integer, we deduce that

$$\begin{aligned} G(\alpha, \chi) &= \lim_{N \rightarrow \infty} \frac{(1 - e^{2\pi i \alpha})G(\chi)}{2\pi i} \sum_{n=-N}^N \sum_{m=1}^{k-1} \frac{\bar{\chi}(m)}{kn + m - \alpha} \\ &= \lim_{N \rightarrow \infty} \frac{(1 - e^{2\pi i \alpha})G(\chi)}{2\pi i} \sum_{j=-kN+1}^{kN+k-1} \frac{\bar{\chi}(j)}{j - \alpha}, \end{aligned}$$

from which the theorem now follows. QED

Theorem 1, in a slightly different form, was established by Hamburger [10], by a different method. For a more general result and some related remarks, see [6, pp. 171–173].

As usual, let $L(s, \chi) = \sum_{n=1}^{\infty} \chi(n)n^{-s}$, $\text{Re } s > 0$, denote a Dirichlet L -function. The following result is well known; see, for example, [2; 5, Example 2] and [8, (6.24)].

Corollary 2. *Let r be a natural number. Then*

$$\sum_{n=1}^{k-1} \chi(n)n^r = -r!k^r G(\chi) \sum_{j=1}^r \{1 + \chi(-1)(-1)^j\} \frac{L(j, \bar{\chi})}{(r-j+1)!(2\pi i)^j}.$$

Proof. Using Leibniz’s rule, differentiate both sides of (2.1) r times with respect to α . Upon letting α tend to 0, we deduce the desired result. QED

If α is not an integer, define

$$R(\alpha, \chi) = \sum_{j=1}^{\infty} \frac{\chi(j)}{j^2 - \alpha^2} \quad \text{and} \quad S(\alpha, \chi) = \sum_{j=1}^{\infty} \frac{j\chi(j)}{j^2 - \alpha^2}.$$

Thus, the series in (2.1) equals $2\alpha R(\alpha, \bar{\chi})$ or $2S(\alpha, \bar{\chi})$ according as χ is even or odd.

Corollary 3. *If α is not an integer, then*

$$\sum_{n=1}^{k-1} \chi(n) \cos(2\pi \alpha n/k) = \begin{cases} -\frac{\alpha}{\pi} \sin(2\pi \alpha) G(\chi) R(\alpha, \bar{\chi}), & \text{if } \chi \text{ is even,} \\ \frac{1}{\pi i} (1 - \cos(2\pi \alpha)) G(\chi) S(\alpha, \bar{\chi}), & \text{if } \chi \text{ is odd,} \end{cases}$$

and

$$\sum_{n=1}^{k-1} \chi(n) \sin(2\pi \alpha n/k) = \begin{cases} -\frac{\alpha}{\pi} (1 - \cos(2\pi \alpha)) G(\chi) R(\alpha, \bar{\chi}), & \text{if } \chi \text{ is even,} \\ -\frac{1}{\pi i} \sin(2\pi \alpha) G(\chi) S(\alpha, \bar{\chi}), & \text{if } \chi \text{ is odd.} \end{cases}$$

Proof. Since the sums on the left sides above are $\frac{1}{2}\{G(\alpha, \chi) + G(-\alpha, \chi)\}$ and $\frac{1}{2i}\{G(\alpha, \chi) - G(-\alpha, \chi)\}$, respectively, the corollary follows immediately from Theorem 1. QED

Corollary 4. *If α is not an integer and χ is real, then*

$$G(\alpha, \chi) = \begin{cases} -\frac{\alpha \sqrt{k}}{\pi} \{ \sin(2\pi\alpha) + i(1 - \cos(2\pi\alpha)) \} R(\alpha, \chi), & \text{if } \chi \text{ is even,} \\ \frac{\sqrt{k}}{\pi} \{ 1 - \cos(2\pi\alpha) - i \sin(2\pi\alpha) \} S(\alpha, \chi), & \text{if } \chi \text{ is odd.} \end{cases} \quad (2.3)$$

Proof. The result follows easily from Theorem 1 and (1.1). QED

If β is not an odd integer, we define

$$T(\beta, \chi) = \sum_{j=1, \text{ odd}}^{\infty} \frac{\chi(j)}{j^2 - \beta^2} \quad \text{and} \quad U(\beta, \chi) = \sum_{j=1, \text{ odd}}^{\infty} \frac{j\chi(j)}{j^2 - \beta^2}.$$

The series R , S , T , and U are connected as shown in the following two lemmas. In the proofs,

$$\sum_{j=-\infty}^{\infty} \text{ denotes } \lim_{N \rightarrow \infty} \sum_{j=-N}^N.$$

Lemma 5. *Let k be odd and assume that β is not an odd integer. Then*

$$R\left(\frac{k+\beta}{2}, \chi\right) = \frac{4\bar{\chi}(2)\beta}{k+\beta} T(\beta, \chi), \quad \text{if } \chi \text{ is even,}$$

and

$$S\left(\frac{k+\beta}{2}, \chi\right) = 2\bar{\chi}(2)U(\beta, \chi), \quad \text{if } \chi \text{ is odd.}$$

Proof. First, suppose that χ is even. Then

$$\begin{aligned} R\left(\frac{k+\beta}{2}, \chi\right) &= \frac{1}{k+\beta} \sum_{j=-\infty}^{\infty} \frac{\chi(j)}{j - (k+\beta)/2} = \frac{2\bar{\chi}(2)}{k+\beta} \sum_{j=-\infty, \text{ even}}^{\infty} \frac{\chi(j)}{j - k - \beta} \\ &= \frac{2\bar{\chi}(2)}{k+\beta} \sum_{j=-\infty, \text{ even}}^{\infty} \frac{\chi(j-k)}{j - k - \beta} = \frac{2\bar{\chi}(2)}{k+\beta} \sum_{j=-\infty, \text{ odd}}^{\infty} \frac{\chi(j)}{j - \beta} \\ &= \frac{4\beta\bar{\chi}(2)}{k+\beta} T(\beta, \chi). \end{aligned}$$

The proof of the second part of Lemma 5 follows along the same lines. QED

Lemma 6. *Let k be even and assume that α is not an integer. Then*

$$R(\alpha + k/2, \chi) = -\frac{2\alpha}{2\alpha + k} R(\alpha, \chi) = -\frac{2\alpha}{2\alpha + k} T(\alpha, \chi), \quad \text{if } \chi \text{ is even,}$$

and

$$S(\alpha + k/2, \chi) = -S(\alpha, \chi) = -U(\alpha, \chi), \quad \text{if } \chi \text{ is odd.}$$

Proof. Note that $k/2$ is even, for otherwise the conductor of χ would divide $k/2$, which contradicts the fact that χ is primitive. Moreover, $\chi(j - k/2) = -\chi(j)$. For if $\chi(j - k/2) = \chi(j)$ for some odd integer j , then

$$1 = \bar{\chi}(j)\chi(j) = \bar{\chi}(j)\chi(j - k/2) = \chi(j^{-1}j - k/2) = \chi(1 - k/2),$$

which again contradicts the primitivity of χ .

First, suppose that χ is even. Then

$$\begin{aligned} R(\alpha + k/2, \chi) &= \frac{1}{2\alpha + k} \sum_{j=-\infty}^{\infty} \frac{\chi(j)}{j - \alpha - k/2} = -\frac{1}{2\alpha + k} \sum_{j=-\infty}^{\infty} \frac{\chi(j - k/2)}{j - \alpha - k/2} \\ &= -\frac{1}{2\alpha + k} \sum_{j=-\infty}^{\infty} \frac{\chi(j)}{j - \alpha} = -\frac{2\alpha}{2\alpha + k} R(\alpha, \chi). \end{aligned}$$

The proof of the second part of Lemma 6 is analogous. QED

Theorem 7. *Let k be odd and assume that β is not an odd integer. Then*

$$\sum_{n=1}^{k-1} (-1)^n \chi(n) \cos(\pi\beta n/k) = \begin{cases} \frac{2}{\pi} \beta \chi(2) \sin(\pi\beta) G(\chi) T(\beta, \bar{\chi}), & \text{if } \chi \text{ is even,} \\ \frac{2}{\pi i} \chi(2) (1 + \cos(\pi\beta)) G(\chi) U(\beta, \bar{\chi}), & \text{if } \chi \text{ is odd,} \end{cases}$$

and

$$\sum_{n=1}^{k-1} (-1)^n \chi(n) \sin(\pi\beta n/k) = \begin{cases} -\frac{2}{\pi} \beta \chi(2) (1 + \cos(\pi\beta)) G(\chi) T(\beta, \bar{\chi}), & \text{if } \chi \text{ is even,} \\ \frac{2}{\pi i} \chi(2) \sin(\pi\beta) G(\chi) U(\beta, \bar{\chi}), & \text{if } \chi \text{ is odd.} \end{cases}$$

Proof. In Corollary 3, replace α by $(k + \beta)/2$. Applying Lemma 5, we complete the proof. QED

Theorem 8. *Let k be even and assume that α is not an integer. Then*

$$\sum_{n=1}^{k-1} (-1)^n \chi(n) \cos(2\pi\alpha n/k) = \begin{cases} \frac{\alpha}{\pi} \sin(2\pi\alpha) G(\chi) R(\alpha, \bar{\chi}), & \text{if } \chi \text{ is even,} \\ -\frac{1}{\pi i} (1 - \cos(2\pi\alpha)) G(\chi) S(\alpha, \bar{\chi}), & \text{if } \chi \text{ is odd,} \end{cases}$$

and

$$\sum_{n=1}^{k-1} (-1)^n \chi(n) \sin(2\pi\alpha n/k) = \begin{cases} \frac{\alpha}{\pi} (1 - \cos(2\pi\alpha)) G(\chi) R(\alpha, \bar{\chi}), & \text{if } \chi \text{ is even,} \\ \frac{1}{\pi i} \sin(2\pi\alpha) G(\chi) S(\alpha, \bar{\chi}), & \text{if } \chi \text{ is odd.} \end{cases}$$

Proof. In Corollary 3, replace α by $\alpha + k/2$ and then apply Lemma 6 to complete the proof. QED

3. The Signs of Half Gauss Sums

Theorem 12 and Corollaries 15 and 17 below were conjectured by Lehmer. Our goal in this section is to prove these and some generalizations.

Lemma 9. *Let χ be real and assume that $0 < \alpha < 1$. Then*

$$R(\alpha, \chi) > \frac{1}{1-\alpha^2} - \frac{3}{4} \quad \text{and} \quad S(\alpha, \chi) > \alpha^2 \left(\frac{1}{1-\alpha^2} - \frac{1}{4} \right).$$

In particular, $R(\alpha, \chi)$ and $S(\alpha, \chi)$ are positive.

Proof. First,

$$\begin{aligned} R(\alpha, \chi) &> \frac{1}{1-\alpha^2} - \sum_{j=2}^{\infty} \frac{1}{j^2-\alpha^2} \\ &> \frac{1}{1-\alpha^2} - \sum_{j=2}^{\infty} \frac{1}{j^2-1} = \frac{1}{1-\alpha^2} - \frac{3}{4}. \end{aligned}$$

Secondly,

$$\begin{aligned} S(\alpha, \chi) &= \sum_{j=1}^{\infty} \frac{\chi(j)}{j} + \alpha^2 \sum_{j=1}^{\infty} \frac{\chi(j)}{j(j^2-\alpha^2)} \\ &> L(1, \chi) + \alpha^2 \left(\frac{1}{1-\alpha^2} - \sum_{j=2}^{\infty} \frac{1}{j(j^2-1)} \right) \\ &= L(1, \chi) + \alpha^2 \left(\frac{1}{1-\alpha^2} - \frac{1}{4} \right) \\ &\geq \alpha^2 \left(\frac{1}{1-\alpha^2} - \frac{1}{4} \right), \end{aligned}$$

since it is well known that $L(1, \chi) \geq 0$ [7, p. 267]. QED

Theorem 10. *Let χ be real and assume that $0 < \alpha < 1$. Then*

$$\sum_{n=1}^{k-1} \chi(n) \cos(2\pi\alpha n/k) \begin{cases} < 0, & \text{if } \chi \text{ is even and } \alpha < \frac{1}{2}, \\ = 0, & \text{if } \chi \text{ is even and } \alpha = \frac{1}{2}, \\ > 0, & \text{otherwise,} \end{cases}$$

and

$$\sum_{n=1}^{k-1} \chi(n) \sin(2\pi\alpha n/k) \begin{cases} > 0, & \text{if } \chi \text{ is odd and } \alpha > \frac{1}{2}, \\ = 0, & \text{if } \chi \text{ is odd and } \alpha = \frac{1}{2}, \\ < 0, & \text{otherwise.} \end{cases}$$

Proof. Taking the real and imaginary parts on both sides of (2.3) in Corollary 4 and using Lemma 9, we immediately deduce the two results above, respectively. QED

Clearly, analogues of Theorem 10 can be readily established for the sums in Theorems 7 and 8.

The next lemma expresses half Gauss sums in terms of the sums in Theorem 10.

Lemma 11. *Let χ be real, k odd, and r a natural number. Then*

$$\sum_{n=1}^{(k-1)/2} \chi(n) \cos(2\pi rn/k) = \begin{cases} \frac{1}{2} \chi(2) \sum_{m=1}^{k-1} \chi(m) \cos(\pi rm/k), & \text{if } \chi(-1) = (-1)^r, \\ \frac{1}{2} \chi(2) \sum_{m=1}^{k-1} (-1)^m \chi(m) \cos(\pi rm/k), & \text{if } \chi(-1) = (-1)^{r+1}, \end{cases}$$

and

$$\sum_{n=1}^{(k-1)/2} \chi(n) \sin(2\pi rn/k) = \begin{cases} \frac{1}{2} \chi(2) \sum_{m=1}^{k-1} \chi(m) \sin(\pi rm/k), & \text{if } \chi(-1) = (-1)^{r+1}, \\ \frac{1}{2} \chi(2) \sum_{m=1}^{k-1} (-1)^m \chi(m) \sin(\pi rm/k), & \text{if } \chi(-1) = (-1)^r. \end{cases}$$

Proof. We have

$$\begin{aligned} \chi(2) \sum_{n=1}^{(k-1)/2} \chi(n) e^{2\pi i rn/k} &= \sum_{\substack{m=1 \\ m \text{ even}}}^k \chi(m) e^{\pi i rm/k} = \sum_{\substack{m=1 \\ m \text{ odd}}}^k \chi(k-m) e^{\pi i r(k-m)/k} \\ &= \chi(-1) (-1)^r \sum_{\substack{m=1 \\ m \text{ odd}}}^k \chi(m) e^{-\pi i rm/k}. \end{aligned}$$

Now twice the first sum above is equal to the second sum plus the fourth sum above. The lemma now follows by considering the various cases. QED

Theorem 12. *Let χ be real and k odd. Then*

$$\chi(2) \sum_{n=1}^{(k-1)/2} \chi(n) \cos(2\pi n/k) > 0, \quad \text{if } \chi \text{ is odd,}$$

and

$$\chi(2) \sum_{n=1}^{(k-1)/2} \chi(n) \sin(2\pi n/k) < 0, \quad \text{if } \chi \text{ is even.}$$

Proof. Apply Lemma 11 with $r=1$ and then Theorem 10 with $\alpha=1/2$. The theorem now follows. QED

Theorem 12 establishes the conjectures (1.2) and (1.3) of Lehmer. The special case of Theorem 12 when k is prime is proposed in [13].

Theorem 13. *Let k be odd, and let χ be real and even. Assume that r is odd and > 1 . Suppose that $\chi(n) = 1$ for $1 \leq n \leq (r-1)/2$ but that $\chi((r+1)/2) \neq 1$. Then*

$$\chi(2) \sum_{n=1}^{(k-1)/2} \chi(n) \sin(2\pi rn/k) > 0.$$

Proof. Using successively Lemma 11 and Corollary 3, we find that

$$\begin{aligned} \chi(2) \sum_{n=1}^{(k-1)/2} \chi(n) \sin(2\pi rn/k) &= \frac{1}{2} \sum_{m=1}^{k-1} \chi(m) \sin(\pi rm/k) \\ &= -\frac{r\sqrt{k}}{2\pi} R(r/2, \chi). \end{aligned}$$

It remains to show that $R(r/2, \chi) < 0$. Now,

$$\begin{aligned} -\frac{1}{4} R(r/2, \chi) &= \sum_{j=1}^{\infty} \frac{\chi(j)}{r^2 - (2j)^2} \\ &= \sum_{j=1}^{(r-1)/2} \frac{1}{r^2 - (2j)^2} + \frac{\chi((r+1)/2)}{r^2 - (r+1)^2} + \sum_{j=(r+3)/2}^{\infty} \frac{\chi(j)}{r^2 - (2j)^2} \\ &\geq \sum_{j=1}^{(r-1)/2} \frac{1}{r^2 - (2j)^2} + \sum_{j=(r+3)/2}^{\infty} \frac{1}{r^2 - (2j)^2} \\ &= \sum_{j=1}^{\infty} \frac{1}{r^2 - (2j)^2} + \frac{1}{2r+1} \\ &= -\frac{1}{2r^2} + \frac{1}{2r+1} > 0. \quad \text{QED} \end{aligned}$$

Corollary 14. *Let p be a prime with $p \equiv 5 \pmod{8}$. Then*

$$\sum_{n=1}^{(p-1)/2} \left(\frac{n}{p}\right) \sin(6\pi n/p) < 0.$$

Corollary 15. *Let p be a prime with $p \equiv 17 \pmod{24}$. Then*

$$\sum_{n=1}^{(p-1)/2} \left(\frac{n}{p}\right) \sin(10\pi n/p) > 0.$$

Theorem 16. *Let k be odd, and let χ be real and even. Suppose that r is positive and even. Assume that $\chi(n) = 1$ for all odd natural numbers $n < r$. Then*

$$\sum_{n=1}^{(k-1)/2} \chi(n) \sin(2\pi rn/k) > 0.$$

Proof. By applying Lemma 11 and Theorem 7, we find that

$$\begin{aligned} \sum_{n=1}^{(k-1)/2} \chi(n) \sin(2\pi rn/k) &= \frac{1}{2} \chi(2) \sum_{m=1}^{k-1} (-1)^m \chi(m) \sin(\pi rm/k) \\ &= -\frac{2r\sqrt{k}}{\pi} T(r, \chi). \end{aligned}$$

It remains to show that $T(r, \chi) < 0$. Now,

$$\begin{aligned}
 -T(r, \chi) &= \sum_{\substack{j=1 \\ j \text{ odd}}}^{\infty} \frac{\chi(j)}{r^2 - j^2} \\
 &= \sum_{\substack{j=1 \\ j \text{ odd}}}^{r-1} \frac{1}{r^2 - j^2} + \sum_{\substack{j=r+1 \\ j \text{ odd}}}^{\infty} \frac{\chi(j)}{r^2 - j^2} \\
 &> \sum_{\substack{j=1 \\ j \text{ odd}}}^{\infty} \frac{1}{r^2 - j^2} = 0. \quad \text{QED}
 \end{aligned}$$

Corollary 17. *Let p be a prime with $p \equiv 1 \pmod{4}$. Then*

$$\sum_{n=1}^{(p-1)/2} \left(\frac{n}{p}\right) \sin(4\pi n/p) > 0.$$

Corollary 18. *For primes $p \equiv 1 \pmod{12}$, we have*

$$\sum_{n=1}^{(p-1)/2} \left(\frac{n}{p}\right) \sin(8\pi n/p) > 0.$$

Corollary 19. *For primes $p \equiv 1$ or $49 \pmod{60}$, we have*

$$\sum_{n=1}^{(p-1)/2} \left(\frac{n}{p}\right) \sin(12\pi n/p) > 0.$$

4. Identities for Trigonometric Character Sums

Most of the theorems in Sect. 2 involve the infinite series $R(\alpha, \chi)$ and $S(\alpha, \chi)$. By using (2.1) and (2.2), we can express $R(\alpha, \chi)$ and $S(\alpha, \chi)$ as finite trigonometric character sums:

$$R(\alpha, \chi) = \frac{\pi}{2\alpha k} \sum_{m=1}^{k-1} \chi(m) \cot(\pi(m-\alpha)/k), \quad \text{if } \chi \text{ is even,} \tag{4.1}$$

and

$$S(\alpha, \chi) = \frac{\pi}{2k} \sum_{m=1}^{k-1} \chi(m) \cot(\pi(m-\alpha)/k), \quad \text{if } \chi \text{ is odd,} \tag{4.2}$$

where α is not an integer. These identities can be reformulated. If χ is even, then

$$R(\alpha, \chi) = -\frac{\pi}{2\alpha k} \sin(2\pi\alpha/k) \sum_{m=1}^{k-1} \frac{\chi(m)}{\cos(2\pi m/k) - \cos(2\pi\alpha/k)}; \tag{4.3}$$

if χ is odd, then

$$S(\alpha, \chi) = -\frac{\pi}{2k} \sum_{m=1}^{k-1} \frac{\chi(m) \sin(2\pi m/k)}{\cos(2\pi m/k) - \cos(2\pi\alpha/k)}. \tag{4.4}$$

We proceed to prove only (4.3), as the proof of (4.4) is analogous.

Suppose that χ is even. In view of (4.1), it suffices to show that

$$-\sum_{m=1}^{k-1} \chi(m) \cot(\pi(m-\alpha)/k) = \sum_{m=1}^{k-1} \frac{\chi(m) \sin(2\pi\alpha/k)}{\cos(2\pi m/k) - \cos(2\pi\alpha/k)}. \tag{4.5}$$

Choosing $A = \pi(m + \alpha)/k$ and $B = \pi(m - \alpha)/k$ in the easily proved identity

$$\cot A - \cot B = \frac{2 \sin(A - B)}{\cos(A + B) - \cos(A - B)},$$

we see that the sum of the m -th and $(k - m)$ -th terms on each side of (4.5) are equal. This proves (4.5) and thus (4.3).

In [16], Schemmel proved a version of Corollary 3 in which $R(\alpha, \chi)$ and $S(\alpha, \chi)$ are replaced by the right sides of (4.3) and (4.4), respectively. We shall indicate additional identities which can be obtained from (4.1)–(4.4) and results in Sect. 2.

Making use of (4.1) and (4.2) in the proof of Corollary 2, we can express $\sum_{n=1}^{k-1} \chi(n)n^r$ as a linear combination of the sums $\sum_{m=1}^{k-1} \bar{\chi}(m) \cot^j(\pi m/k)$, $1 \leq j \leq r$. For such identities in a more general setting, see [4, Sect. 4]. The cases $r = 1, 2$ yield the well-known identities

$$\sum_{n=1}^{k-1} \chi(n)n = \frac{iG(\chi)}{2} \sum_{m=1}^{k-1} \bar{\chi}(m) \cot(\pi m/k), \tag{4.6}$$

when χ is odd, and

$$\sum_{n=1}^{k-1} \chi(n)n^2 = \frac{G(\chi)}{2} \sum_{m=1}^{k-1} \bar{\chi}(m) \csc^2(\pi m/k), \tag{4.7}$$

when χ is even. Lebesgue [11] first established (4.6). For references to other proofs, see [9, Chap. 6] and [6, p. 156]. See also a paper of Lerch [14] for a thorough discussion of identities like (4.6) and (4.7).

Let k be odd and χ be odd. From (4.2) and Corollary 3 with $\alpha = k/2$, we find that

$$2\chi(2) \sum_{n=1}^{(k-1)/2} \chi(n) = \sum_{n=1}^{k-1} \chi(n) (-1)^n = \frac{iG(\chi)}{k} \sum_{m=1}^{k-1} \bar{\chi}(m) \tan(\pi m/k).$$

Again, let k be odd. From (4.3), (4.4), and Corollary 3 with $\alpha = k/4$, we deduce that

$$\chi(4) \sum_{n=1}^{(k-1)/2} \chi(n) = (-1)^{(k+1)/2} \sum_{\substack{n=1 \\ n \text{ odd}}}^{k-1} \chi(n) (-1)^{(n-1)/2} = \frac{iG(\chi)}{2k} \sum_{m=1}^{k-1} \bar{\chi}(m) \tan(2\pi m/k),$$

when χ is odd, and

$$\begin{aligned} &(-1)^{(k-1)/2} \chi(4) \left\{ \sum_{1 \leq n < k/4} \chi(n) - \sum_{k/4 < n < k/2} \chi(n) \right\} \\ &= \sum_{\substack{n=1 \\ n \text{ odd}}}^{k-1} \chi(n) (-1)^{(n-1)/2} = \frac{G(\chi)}{2k} \sum_{m=1}^{k-1} \bar{\chi}(m) \sec(2\pi m/k), \end{aligned}$$

when χ is even.

Finally, we mention that by expressing $\cos^r(2\pi\alpha n/k)$ as a linear combination of the terms $\cos(2\pi\alpha_j n/k)$, $0 \leq j \leq r$, we can apply Corollary 3 to obtain identities for the sums $\sum_{n=1}^{k-1} \chi(n) \cos^r(2\pi\alpha n/k)$ for any natural number r . In particular, the elegant identities in [3, p. 34] can be proved in this way.

References

1. Apostol, T.M.: Introduction to analytic number theory. Berlin, Heidelberg, New York: Springer 1976
2. Ayoub, R.: On L -functions. *Monatsh. Math.* **71**, 193–202 (1967)
3. Berndt, B.C.: The Voronoï summation formula. The theory of arithmetic functions. In: Lecture Notes in Mathematics, No. 251, pp. 21–36. Berlin, Heidelberg, New York: Springer 1972
4. Berndt, B.C.: On Gaussian sums and other exponential sums with periodic coefficients. *Duke Math. J.* **40**, 145–156 (1973)
5. Berndt, B.C.: Character analogues of the Poisson and Euler-Maclaurin summation formulas with applications. *J. Number Theory* **7**, 413–445 (1975)
6. Berndt, B.C.: Periodic Bernoulli numbers, summation formulas, and applications. In: Theory and application of special functions, pp. 143–189. Askey, R.A. (ed.). New York: Academic Press 1975
7. Berndt, B.C.: Classical theorems on quadratic residues. *Enseignement Math.* **22**, 261–304 (1976)
8. Berndt, B.C., Schoenfeld, L.: Periodic analogues of the Euler-Maclaurin and Poisson summation formulas with applications to number theory. *Acta Arith.* **28**, 23–68 (1975)
9. Dickson, L.E.: History of the theory of numbers. III. New York: Chelsea 1966
10. Hamburger, H.: Über einige Beziehungen, die mit der Funktionalgleichung der Riemannschen ζ -Funktion äquivalent sind. *Math. Ann.* **85**, 129–140 (1922)
11. Lebesgue, V.-A.: Suite du mémoire sur les applications du symbole $\left(\frac{a}{b}\right)$. *J. Math.* **15**, 215–237 (1850)
12. Lehmer, E.: Private communication, June, 1979
13. Lehmer, E.: Problem S 27. *Amer. Math. Monthly* **87**, 218 (1980)
14. Lerch, M.: Sur quelques analogies des sommes de Gauss. *Sitzungsber. Böhm. Gesells. Wiss. Prague* **43**, 1–16 (1897)
15. Narkiewicz, W.: Elementary and analytic theory of algebraic numbers. Warszawa: Polish Scientific Publishers 1974
16. Schemmel, V.: De multitudine formarum secundi gradus disquisitiones. Dissertation, Breslau, 1863

Received October 15, 1979, in revised form January 10, 1980